PartS Catal O g Issued: Jun 21, 2022

Personal Care
Bath Safety

>

Yes, you can.




Parts Catalog Usage Guide

The information contained in this document is subject to change without notice. This catalog contains
service parts for Form No. 92-43. If you have any questions regarding this catalog, please contact one of
our Customer Service Representatives.

For Customer Service Support Call:
1-800-333-6900
For Faxed In Orders Call:
1-800-678-4682 or

1-440-366-0709

For Technical Service Call:
1-800-832-4707

Literature Can Be Found at:

www.invacare.com or

1-800-828-6272

SYMBOL DEFINITION

Throughout this catalog you will notice letters to draw your attention to specific footnotes which are located at the
bottom of the page or below specified charts.

Examples:
AB,Cetc. = Special Comments
NOTE: General information pertaining to that specific page
NLA No Longer Available

HARDWARE MEASUREMENTS

The measurements for the hardware will be listed as follows:
Screws, Bolts Diameter X Thread Count/Pitch X Length
Washers Inside Diameter X Outside Diameter X Thickness
Spacers Inside Diameter X Outside Diameter X Length

For your convenience, we have supplied an area for you to list your Invacare Representatives.

Name Phone Numbers

© 2022 Invacare Corporation, Elyria, Ohio. Invacare, the Medallion Design and Yes, you can. are registered trademarks of the Invacare Corporation.
Careguard and I-Fit are trademarks of Invacare Corporation. Information is subject to change without notification.

1
Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com



TABLE of CONTENTS

Description leﬁlgbeer
3" Suction Cup Option - MOdel 6314 & B3L6 ......uueeeveeeeeiiiiiiiiiieeee e e e e e e e 63
Adjustable Raised Toilet Seat - MOdel 1384 .........c.c.oviiiiiieie e 22
Bath Board - MOUEI 9664 .........ooiiiiiiiiiie ittt ettt e et e st e e e e s sibneeeeans 29
Grab Bar Hardware- Model 2712-3, 2742-3, 512-3, 532-3, 312-3, 332-3 & 1910-1913 .......... 65
[ (510 LS = 4o TSP 71
Hand Shower - Model 826-4 & 828-4 .........ooiiiiiiieiie et 31
Model Number Cross Reference Chart ... e 9
Packaging and INStrUCLION ShEET ..........uuiiiiiiiiiii e 4
Raised Toilet Seat - Model 1391AP & 1391P .....cocciiiiiiieiiiee et 24
Shower Chair - Bariatric - MOdel 9785-2 ........ocoiiiiiiiie e 51
Shower Chair - Compact Blow Molded - Model 50-1,3 & 60-1,3 ......ccccciviiiiiieeeeeiiiiiiieeeeeee e 32
Shower Chair - Compact Blow Molded - Model 75-1,3 & 85-1,3 ....cooiiiiiiiiiiieeeee e 34
Shower Chair - Folding - Model 9980 & 9981 .......cccieeiiiiiiiiiiiieeeee e 43
Shower Chair - Hygienic - Model 1362 & 1363 ......cccoeeiiiiiiiiiiiiieie e ssinieeer e e e e e e s snvrree e e e e e e 36
Shower Chair - IVC I-Fit & CareGuard - Model 90-2, 95-2, 9780, 9781 ........ccccvveiiivreeeniiieenn. 47
Shower Chair - Large Blow Molded - Model 9680, 9680P, 9681 & 9681P .........ccccccceveeerinnnns 41
Shower Chair - Mobile - MOdel 8358 .........c.oiiiiiiiiie e 38
Shower Chair - Tooless - MOdels 91-2 & 96-2 .........cooviiiiiiiiiie e 49
Shower Chair - Vinyl Padding - Model 9872 & 9872C .......ccooiiiiiiiiiee e 45
Toilet Safety Frame - Model 1392 & B635-3 ....coo oot 26
Toilet Safety Frame - Model 1392KD ........uuiiiiiiieiiiiiiiiieie e e e e e e e e e e e e e s rnnnnees 28

Form No. 92-43 )
To order call toll free 1-800-333-6900, or www.invacare.com



TABLE of CONTENTS

Description leﬁlgbeer
Transfer Bench - Bariatric - Model 9675-2 .........ooiiiiiiiiieiiie e 61
Transfer Bench - Compact Blow Molded - Model 98070 & 990-1 .......cccccveveveeeeeeiviiiineeeeeeenn, 57
Transfer Bench - Large Blow Molded - Model 9670, 9670U & 9670C ........ccccvvvveeveeeeeiiinennnen 53
Transfer Bench - Model 9871, 9871-1, 9873, 9871C, 9871C-1 & 9873C .....cccovvvveveeieiiiiinnnen 55
Transfer Bench - TOoleSS - MOdel 98071-2 .......oiiiiiiiiiie et 59
Tub Bars - Model 100-3, 110-3, 1816, 725-3, 1200-3, 1210-3 & 705-4 .....cccvvvivveiierieiieeien 67
Warranty REPIACEMENT .......ooiiiiiiie ettt e et e e sib e e e aareeeeeaa 13

3

To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Packaging and Instruction Sheets
Bath/Assists

Model Cartons Instruction Sheets Inserts
1392 1086816-NLA 1087193-NLA N/A
1364P-NLA 1062076-NLA 1052374 N/A
1365P-NLA 1062076-NLA 1062078-NLA N/A
6312-NLA 40131X044 1070889-NLA N/A
6313 40131X044 1070889-NLA N/A
6316 40131X044 1070889-NLA N/A
635-1 1089759-NLA 1089644-NLA N/A
635-3 1089758-NLA 1089644-NLA N/A
6318 40131X044 1070889-NLA N/A
9664 1089751-NLA 1089629-NLA N/A

NOTE: Refer to your Owner's Manual for Assistance, When Adjusting or Replacing Parts.

4
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Packaging and Instruction Sheets

Shower Chair

Model Cartons Instruction Sheets Inserts
50's 1085416-NLA 1089640-NLA N/A
60's 1089187-NLA 1089640-NLA N/A
75's 1089187-NLA 1089640-NLA N/A
85's 1089187-NLA 1089640-NLA N/A
1362, 1363 1086813-NLA 1073902-NLA N/A
6358 1021705-NLA 1020707-NLA N/A
6262-NLA, 6463-NLA,
6482-NLA, 6483-NLA 1053180 1023078-NLA 1078340-NLA
9680, 9681 1062803-NLA 1087196-NLA N/A
9680P-NLA, 9690P-NLA 1062803-NLA 1087196-NLA N/A
9681P, 9691P-NLA 1062803-NLA 1087196-NLA N/A
9872, 9872C 1053180 1075941 1078340-NLA
9980 1093519-NLA N/A N/A
9981 1093106 1145752 N/A
90-2, 95-2, 9780, 9781 N/A 1118360 N/A
NOTE: Refer to your Owner's Manual for Assistance, When Adjusting or Replacing Parts.
Hand Showers
Model Cartons Instruction Sheets Inserts
826's 1089200-NLA 1087199 N/A
828-4 1086812-NLA 1087199 N/A

NOTE: Refer to your Owner's Manual for Assistance, When Adjusting or Replacing Parts.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

5




Packaging and Instruction Sheets

Transfer Bench

Model Cartons Instruction Sheets Inserts
6541-NLA, 6461-NLA,
6481-NLA, 6484-NLA 1053180 1023078-NLA N/A
90997-NLA 1089400 1089642-NLA N/A
9670, 9670C 1061421 1148079 N/A
9670U 1065225-NLA 1068523 N/A
97070-NLA 1065467-NLA 1069728-NLA N/A
9871's, 9873 1053180 1148079 1078340-NLA
9871C, 9873C 1053180 1063930 1078340-NLA
98070 1053180 1148079 1078340-NLA

NOTE: Refer to your Owner's Manual for Assistance, When Adjusting or Replacing Parts.

Form No. 92-43

6

To order call toll free 1-800-333-6900, or www.invacare.com




Packaging and Instruction Sheets

Grip/Grab Bars

Model Cartons Instruction Sheets Inserts
100-3 1073520-NLA 1089638 N/A
110-1 1080873-NLA 1089638 N/A
110-3 1073520-NLA 1089638 N/A
725-3 1089768-NLA 1089638 N/A
1200-3-NLA 1089769-NLA 1089638 N/A
1210-3 1089769-NLA 1089638 N/A
312-1 1080874-NLA 1089632-NLA N/A
312-3 1071310-NLA 1148122-NLA N/A
316-1 1080875-NLA 1089632-NLA N/A
316-3 1071311-NLA 1148122-NLA N/A
318-3 1071312-NLA 1148122-NLA N/A
324-3 1071313-NLA 1148122-NLA N/A
332-3 1071315-NLA 1148122-NLA N/A
512-3 1071310-NLA 1148122-NLA N/A
516-3 1071311-NLA 1148122-NLA N/A
518-3 1071312-NLA 1148122-NLA N/A
524-3 1071313-NLA 1148122-NLA N/A
532-3 1071315-NLA 1148122-NLA N/A
705-1 1063935-NLA 1087201-NLA N/A
705-4 1086815-NLA 1087201-NLA N/A
1700's N/A 1089632-NLA N/A
1900's 1055396-NLA 1048870-NLA N/A
2712-3 1089406 1089632-NLA N/A
2716-3 1089407-NLA 1089632-NLA N/A
2718-3 1089408-NLA 1089632-NLA N/A
2724-3 1089409-NLA 1089632-NLA N/A
2732-3 1089410-NLA 1089632-NLA N/A
2736-3 1089411-NLA 1089632-NLA N/A
2742-3 1089412-NLA 1089632-NLA N/A

NOTE: Refer to your Owner's Manual for Assistance, When Adjusting or Replacing Parts.

Form No. 92-43

7

To order call toll free 1-800-333-6900, or www.invacare.com




Packaging and Instruction Sheets
Low Height Safety Bar

Model Cartons Instruction Sheets Inserts

1376-NLA, 1377-NLA 1054888-NLA 00075X083-NLA N/A

NOTE: Refer to your Owner's Manual for Assistance, When Adjusting or Replacing Parts.

8
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Model Number Cross Reference Chart

Grab Bars
Discontinued Models Discontinued Models Current Models Descriotion
Before 10/01/99 After 9/30/99 P
1700CH 512-3 512-3 Grab Bar, K;uzjxled Chrome
1701CH 516-3 516-3 Grab Bar, Krlngxled Chrome
1702CH 518-3 518-3 Grab Bar, Kr;gxled Chrome
1703CH 504-3 504-3 Grab Bar, ngxled Chrome
1704CH 532-3 532-3 Grab Bar, K:r;tzjxled Chrome
Grab Bar, Residential,
1740 312-3 312-3 White Vinyl Coated 12"
Grab Bar, Residential,
174l 316-3 316-3 White Vinyl Coated 16"
Grab Bar, Residential,
1742 318-3 318-3 White Vinyl Coated 18"
Grab Bar, Residential,
1743 324-3 324-3 White Vinyl Coated 24"
Grab Bar, Residential,
1744 332-3 332-3 White Vinyl Coated 32"
Grab Bar, ADA, Stainless
1760 2712-3 2712-3 Steel 1-1/2" x 12"
Grab Bar, ADA, Stainless
1761 2716-3 2716-3 Steel 1-1/2" x 16"
Grab Bar, ADA, Stainless
1762 2718-3 2718-3 Steel 1-1/2" x 18"
Grab Bar, ADA, Stainless
1763 2724-3 2724-3 Steel 1-1/2" x 24"
Grab Bar, ADA, Stainless
1764 2732-3 2732-3 Steel 1-1/2" x 32"
Grab Bar, ADA, Stainless
1765 2736-3 2736-3 Steel 1-1/2" x 36"
Grab Bar, ADA, Stainless
1766 2742-3 2742-3 Steel 1-1/2" x 42"
1800 100 100 Bath Security Grip
1801 110 110 Bath Security
Suregrip Rail
1810 1200 1200 Knurled Trigrip Rail
1811 1210 1210 Suregrip Trigrip Rail
1819 725 725 Suregrip Bathtub Grip

Form No. 92-43

9

To order call toll free 1-800-333-6900, or www.invacare.com




Model Number Cross Reference Chart
Hand Showers

Discontinued Models

Discontinued Models

Before 6/29/98 After 9/30/99 Current Models Description
HH101W 826 826 Hand Shower Kit, White
HH201W 828 828 Hand Shower Kit, White

Transfer Benches

Discontinued Models

Discontinued Models

Before 11/19/96 After 11/18/96 Current Models Description
6431 9670 9670 Transfer Bench
6431 9670U 9670U Transfer Bench -

Unassembled

6431 9670C 9670C Transfer Bench with

Commode
Before 4/20/98 After 4/19/98
Bathing Bench with Arm
670 9871C 9871C and Commode Seat -
Padded

6451 99871C 99871C Transfer Bench
with Commode
6461's 9871's 9871's Transfer Bench
6481 9873 9873 Transfer Bench
6484 9873C 9873C Transfer Bench
with Commode
97070 98070 98070 Transfer Bench

Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com

10




Model Number Cross Reference Chart

Shower Chairs

Discontinued Models Discontinued Models Current Models Descriotion
Before 6/02/97 After 6/01/97 10/01/99 P
Shower Chair without Back,
1368 97080 751 Adjustable Height
Shower Chair with Back,
1369 97081 851 Adjustable Height
Shower Chair without Back,
1390 97090 50-1 Fixed Height
Shower Chair with Back,
1390B 97091 60-1 Fixed Height
Shower Chairs
Discontinued Model Discontinued Models Current Models Descriotion
Before 4/20/96 After 4/19/96 10/01/99 P
6462 9872C 9872C Shower Chair with
Commode
6463 9872 9872 Shower Chair without
Commode
6482 9872C 9872C Shower Chair with
Commode
6483 9872 9872 Shower Chair without
Commode
Shower Chairs
Discontinued Models Discontinued Models Current Models Description
Before 10/01/99 After 9/30/99 10/01/99 P
90075 9680P 9680P Bathing Seat, Adjustable,
Contoured
Bathing Seat with Back,
90085 9681P 9681P Contoured, Adjustable
90994 9670U 9670U Bathing Bench, Contoured,
Adjustable

Form No. 92-43

11

To order call toll free 1-800-333-6900, or www.invacare.com




Model Number Cross Reference Chart
Accessories - Bath Mat

Discontinued Models Discontinued Models Current Models Descriotion
Before 7/17/98 After 7/16/98 10/01/99 P
1711 1711 815 Bath Mat
12

Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com



Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431

Transfer Bench - 2 per carton).
Bath/Shower Assist

Reference Model -
Number Warranty Number Description Warranty Package
NLA - WARR RPLMT -
HH201C-NLA 1038080-NLA Hand Shower Kit - Chrome 1
DV401C 1038084-NLA NLA - WARR RPLMT - 1
Valve, Diverter
NLA - WARR RPLMT - Tub
TS301C 1088463-NLA Spout, Brass Bath Mat 1
815-6 1061914-NLA WARR RPLMT - Bath Mat 1
WARR RPLMT - Kit, Hand
826-4 1097313 Shower, White 1
WARR RPLMT - Kit, Hand
828-4 1088461 Shower, White 1
1364P-NLA 1061879-NLA NLA - WARR RPLMT - 1
Bath Board
1365P-NLA 1061880-NLA WARR RPLMT - Seat, Bath 1
WARR RPLMT - Seat,
1384 1061913-NLA Toilet, Raised, Adjustable 1
1143631-NLA WARR RPLMT - Seat,
1390P ; ) 1
See Note(s) A Toilet, Raised w/o Arms
1390AP 1143632-NLA WARR RI?LMT - Seat, 1
See Note(s) B Toilet, Raised w/ Arms
WARR RPLMT - Toilet
1301RTS 1061881 Seat, Raised, Clamp-On 1
w/o Arms
WARR RPLMT - Toilet
1302RTS 1061882 Seat, Raised, Clamp-On w/ 1
Arms
1391P 1061881 WARR RPLMT - Toilet 1
See Note(s) C Seat, Raised, Clamp-On
WARR RPLMT - Toilet
1391AP 1061882 Seat, Raised, Clamp-On, 1
See Note(s) D with Arms
1392 1055572-NLA WARR RPLMT - Frame, 1
Toilet Safety
1393P-NLA 685-1-NLA WARR RPLMT - Seat, 1
Toilet, Raised
685-4 685-1-NLA WARR RPLMT - Seat, 1
Toilet, Raised
1392KD 1128091-NLA WARR RPLMT - Frame, 1
Toilet Safety

Form No. 92-43

13

To order call toll free 1-800-333-6900, or www.invacare.com




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431
Transfer Bench - 2 per carton).

NOTE: A - Iltem no longer available, refer to part #1061881 for replacement.
B - Item no longer available, refer to part #1061882 for replacement.
C - Due to design change, 1391P will replaced with 1301RTS.
D - Due to design change, 1391AP will be replaced with 1302RTS.

14
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431

Transfer Bench - 2 per carton).

Shower Chair

Reference Model Number

Warranty Number

Description

Warranty Package

50-3

1097314-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Fixed Height

1

60-3 - NLA

1097315-NLA

NLA - WARR RPLMT -
Shower Chair with Back,
Fixed Height

75-3-NLA

1097316-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Adjustable Height

85-3

85-1-NLA

WARR RPLMT - Shower
Chair with Back, Adjustable
Height

90-2

1128807-NLA

WARR RPLMT - Shower
Chair without Back,
Aluminum Legs

91-2

1144552-NLA

WARR RPLMT - Shower
Chair without Back, Tooless

95-2

1149806-NLA

See Note(s) A

WARR RPLMT - Shower
Chair with Back, Aluminum
Legs

96-2

1144551

WARR RPLMT - Shower
Chair with Back, Tooless

1362

1061911-NLA

WARR RPLMT - Shower
Chair without Back,
Hygienic Adjustable

1363

1061912-NLA

WARR RPLMT - Shower
Chair with Back, Hygienic,
Adjustable

1366-NLA

1061918-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Adjustable Height

1367-NLA

1022716-NLA

NLA - WARR RPLMT -
Shower Chair Assembled
with Back

1368-NLA

1097316-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Adjustable Height

1369-NLA

1097317-NLA

WARR RPLMT - Shower
Chair, with Back

1390-NLA

1097314-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Fixed Height

1390B-NLA

1097315-NLA

NLA - WARR RPLMT -
Shower Chair with Back,
Fixed Height

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

15




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431

Transfer Bench - 2 per carton).

Shower Chair

Reference Model Number

Warranty Number

Description

Warranty Package

6358

1038067-NLA

WARR RPLMT - Shower
Chair, Commode - Molded

6462-NLA

1064819-NLA

WARR RPLMT - Shower
Chair,

with Commode, Padded
Vinyl

6463-NLA

1064818

WARR RPLMT - Shower
Chair, Padded Vinyl

6482-NLA

1064819-NLA

WARR RPLMT - Shower
Chair with Commode,
Padded Vinyl

6483-NLA

1064818

WARR RPLMT - Shower
Chair, Padded Vinyl

9680

1061916-NLA

WARR RPLMT - Shower
Chair without Back,
Adjustable Height

9681

1061917

WARR RPLMT - Shower
Chair with Back, Adjustable
Height

9680P

1061916-NLA

WARR RPLMT - Shower
Chair with Back, Adjustable
Height

9681P

1061917

WARR RPLMT - Shower
Chair with Back, Adjustable
Height

9690P-NLA

1061920-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Fixed Height

9691P-NLA

1064788-NLA

NLA - WARR RPLMT -
Shower Chair with Back,
Fixed Height

9785-2

1141828

WARR RPLMT - Bariatric
Shower Chair with Back

9872

1064818

WARR RPLMT - Shower
Chair, Padded Vinyl

9872C

1064819-NLA

NLA - WARR RPLMT -
Shower Chair with
Commode, Padded Vinyl

9980

1097318-NLA

NLA - WARR RPLMT -
Shower Chair without Back,
Folding

9981

1097319

WARR RPLMT - Shower
Chair with Back, Folding

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

16




Warranty Replacement
NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431
Transfer Bench - 2 per carton).

Shower Chair

Reference Model Number

Warranty Number

Description

Warranty Package

WARR RPLMT - Shower

9781 9781-1 Chair with Back, Composite 1
Legs
WARR RPLMT - Shower
9780 1128808 Chair without Back, 1

Composite Legs

NOTE: A -Item no longer availa

ble, use 95-2 for replacement.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

17




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431
Transfer Bench - 2 per carton).

Transfer Bench

Reference Model Number Warranty Number Description Warranty Package
WARR RPLMT - Bench,
6431-NLA 1061897 Transfer, Molded Economy 1
NLA - WARR RPLMT -
6451-NLA 1108569-NLA Transfer Bench with 1
Commode - Padded Vinyl
WARR RPLMT - Bench,
6461-NLA 9871-1-NLA Transfer, Padded, Vinyl 1
NLA - WARR RPLMT -
6464-NLA 1038076-NLA Bench, Transfer, Economy 1
Bath
NLA - WARR RPLMT -
6481-NLA 1064816-NLA Transfer Bench - Padded 1
Ensolite
NLA - WARR RPLMT -
6484-NLA 1064817-NLA Transfer Bench/Commaode - 1
Padded Ensolite
WARR RPLMT - Bench,
9670 1061897 Transfer, Molded Economy L
WARR RPLMT - Bench,
9670C 1061898 Transfer with Commode 1
9675-2 1141827 WARR RPLMT - Bariatric 1
Transfer Bench
97070-NLA 1064820-NLA WARR RPLMT - Bench, 1
Transfer
98070 1064820-NLA WARR RPLMT - Bench, 1
Transfer
98071 1144553-NLA WARR RPLMT - Bench, 1
Transfer, Tooless
9871-1-NLA
9871's NLA - WARR RPLMT - WARR RPLMT - Ber_1ch, 1
Bench, Transfer, Padded, | Transfer, Padded, Vinyl
Vinyl
NLA - WARR RPLMT -
9871C 1108569 Transfer Bench with 1
Commode - Padded Vinyl
NLA - WARR RPLMT -
9873 1064816 Transfer Bench - Padded 1
Ensolite
NLA - WARR RPLMT -
9873C-NLA 1064817-NLA Transfer Bench/Commode - 1
Padded Ensolite

Form No. 92-43

18
To order call toll free 1-800-333-6900, or www.invacare.com




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431

Transfer Bench - 2 per carton).
Grab Bar/Rail

Reference Model Number Warranty Number Description Warranty Package
100-3 - NLA 1061883-NLA WARR RPLMT - Bath 1
Security Grip
110-3 1097320 WARR RP!_MT - Ral.l, Bath 1
Security Suregrip
WARR RPLMT - Grab Bar,
312-3 1097321-NLA White Vinyl (12") 1
WARR RPLMT - Grab Bar,
316-3 1097322-NLA White Vinyl (16") 1
WARR RPLMT - Grab Bar,
WARR RPLMT - Grab Bar,
324-3 1061895-NLA White Vinyl (24") 1
NLA - WARR RPLMT -
332-3 1061896-NLA Grab Bar, White Vinyl (32") 1
WARR RPLMT - Grab Bar,
512-3 1090452-NLA Chrome (12") 1
WARR RPLMT - Grab Bar,
516-3 1090453-NLA Chrome (16") 1
WARR RPLMT - Grab Bar,
518-3 1090454-NLA Chrome (18") 1
WARR RPLMT - Grab Bar,
524-3 1090455 Chrome (24") 1
WARR RPLMT - Grab Bar,
532-3 1090456-NLA Chrome (32") 1
NLA - WARR RPLMT - Bar,
705-4 1097323-NLA Molded tub 1
WARR RPLMT - Tub Bar
710-4 1143633-NLA Assembly, White 1
WARR RPLMT - Rall,
725-3 1061889-NLA Suregrip Bathtub 1
1200-3 - NLA 1061890-NLA NLA - WARR RPLMT - Rall, 1
Knurled Trigrip
1210-3 1061891-NLA NLA - WARR RPLMT - Rall, 1
Suregrip Trigrip
WARR RPLMT - Low
1376-NLA 1055579-NLA Height Safety Bar 1
NLA - WARR RPLMT - Low
1377-NLA 1055580-NLA Height Safety Bar 1
NLA - WARR RPLMT -
1700W-NLA 1022686-NLA Grab Bar, Chrome (12") 1
NLA - WARR RPLMT -
1701W-NLA 1022690-NLA Grab Bar, White (16") 1
NLA - WARR RPLMT -
1702W-NLA 1022694-NLA Grab Bar, White (18") 1

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

19




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431

Transfer Bench - 2 per carton).
Grab Bar/Rail

Reference Model Number

Warranty Number

Description

Warranty Package

1703W-NLA

1022698-NLA

NLA - WARR RPLMT -
Grab Bar, White (24")

1704W-NLA

1704W-NLA

NLA - WARR RPLMT -
Grab Bar, White (32")

1705CH

1705C-NLA

NLA - WARR RPLMT -
Grab Bar, Chrome, Right
Angle

1705W-NLA

1705W-NLA

NLA - WARR RPLMT -
Grab Bar, White, Right
Angle

1706CH

1706C-NLA

NLA - WARR RPLMT -
Grab Bar, Chrome, Left
Angle

1706W

1706W-NLA

WARR RPLMT - Grab Bar,
White, Left Angle

1707W-NLA

1097323-NLA

WARR RPLMT - Tub Bar

1744

1061896-NLA

WARR RPLMT - Residential
Wall Grab Bar, White Vinyl
32"

1745-NLA

1745-NLA

NLA - WARR RPLMT -
Grab Bar, White, Right
Angle

1750-NLA

1061899-NLA

NLA - WARR RPLMT -
Grab Bar, ADA, Exposed (1
1/4, 12"

1751-NLA

1061901-NLA

NLA - WARR RPLMT -
Grab Bar, ADA, Exposed (1
1/4, 16")

1752-NLA

1061903-NLA

NLA - WARR RPLMT -
Grab Bar, ADA, Exposed (1
1/4, 18")

1753-NLA

1061905-NLA

NLA - WARR RPLMT -
Grab Bar, ADA, Exposed (1
1/4, 24")

1754

1061907-NLA

WARR RPLMT - Grab Bar,
ADA, Exposed (1 1/4, 32")

1802NLA

1061885-NLA

WARR RPLMT - Bathtub
Security Rail

1803-NLA

1061886-NLA

WARR RPLMT - Rail,
Bathtub Security, Knurled

1818

1061887-NLA

NLA - WARR RPLMT -
Bathtub rail, Old Style Tub

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

20




Warranty Replacement

NOTE: The part numbers within this category are used for Warranty Replacement Purposes only and will
allow you to order (1) of each product for warranty replacement of multi-packaged items (i.e., 6431
Transfer Bench - 2 per carton).

Grab Bar/Rail

Reference Model Number Warranty Number Description Warranty Package
NLA - WARR RPLMT - Rail,
1816 1061888-NLA Narrow Wall Tub 1
1900-NLA 1055629-NLA NLA - WARR RPLMT - 1

Grab Bar, White (16")

NLA - WARR RPLMT -
1901-NLA 1055631-NLA Grab Bar, White (18") 1

NLA - WARR RPLMT -
1902-NLA 1055633-NLA Grab Bar, White 24") 1

NLA - WARR RPLMT -

1903-NLA 1055635-NLA Grab Bar, White (32")

NLA - WARR RPLMT -
1910-NLA 1055637-NLA Grab Bar, Chrome (16") 1

WARR RPLMT - Grab Bar,

1911 1055639-NLA Chrome (16")

WARR RPLMT - Grab Bar,

1912 1055641-NLA Chrome (24")

NLA - WARR RPLMT -
1913 1055643-NLA Grab Bar, Chrome (32") 1

NLA - WARR RPLMT -

2712-3 1090457-NLA Grab Bar, Stainless Steel (1 1
1/2 x 12")

WARR RPLMT - Grab Bar,

2716-3 1090458-NLA Stainless Steel (1 1/2 x 16") 1
WARR RPLMT - Grab Batr,

2718-3 1090459-NLA Stainless Steel (1 1/2 x 18") !
WARR RPLMT - Grab Bar,

2724-3 1090460-NLA Stainless Steel (L 1/2 x 24") 1
WARR RPLMT - Grab Bar,

2732-3 1090461-NLA Stainless Steel (1 1/2 x 32") 1
WARR RPLMT - Grab Batr,

2736-3 1090462-NLA Stainless Steel (1 1/2 x 36") !

2742.3 1090463-NLA WARR RPLMT - Grab Bar, 1

Stainless Steel (1 1/2 x 42")

21
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Adjustable Raised Toilet Seat

Model 1384

22

To order call toll free 1-800-333-6900, or www.invacare.com



Adjustable Raised Toilet Seat

Quantity Per

Iltem

Number | Note | Part Number |Description Package | Assembly

1 1073843-NLA | NLA - Seat, Toilet 1 1
2 1040292-NLA | NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 4
3 60264X010-NLA | NLA - Screw, Hex Head (1/4-20 x 3/4") 1 12
4 1071093-NLA | NLA - Bracket, Small "L", Black 1 4
5 1073844-NLA | NLA - Shield, Splash 1 1
6 1073906-NLA | NLA - Screw, Self Tap (#6-20 x 1/2") 1 4
7 1071094-NLA | NLA - Bracket, Small "Z", Black 1 4
8 1071092-NLA | NLA - Pad, Non-Skid 1 12
9 15108X000 Locknut (1/4-20) 1 8
10 1073204-NLA | NLA - Wrench, Mounting Hex Nut (1/2") 1 1

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

23




Raised Toilet Seat
Models 1391AP and 1391P

Model 1391P
Without Arms

Underside Shown for
Clarity.

Underside Shown for

Clarity.
Model 1391 AP
With Arms

24

Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com



Raised Toilet Seat
Models 1391AP and 1391P

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 1048671-NLA | NLA - Kit, Replacement Hardware 1 1
Bracket, Adjustment, Gray 1 1

Clip, Retaining 1 1

Knob, Adjustment, Grey 1 1

2 1048672-NLA | NLA - Pads, Non-Skid 1 3
3 1036153-NLA | NLA - Tube, Arm, Raised Toilet Seat 1 2
4 1036231-NLA | NLA - Tube, Insert 1 1
5 1036155-NLA | NLA - Pad, Arm, Foam, Grey 1 2
6 1008665-NLA | NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 4
7 B 1391KIT-NLA | NLA - Arm Assembly, Complete 1 1
8 C 1073914-NLA | NLA - Adjustment Bracket Assembly, White 1 1

NOTE: A -KitIncludes (1) each Adjustment Bracket, Retaining Clip and Adjustment Knob.
B - Includes Items 3-6.
C - Includes Adjustment Bracket and Non-Skid Pad.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

25




Toilet Safety Frame

Model 1392 Model 635-3

| ' Installed View of 1392

26

Form No. 92-43 .
To order call toll free 1-800-333-6900, or www.invacare.com



Toilet Safety Frame

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly

1 A,B |01000X001-NLA | NLA - Armrest, Full Length, Beige 1 2
1 AC 1163889 Armrests (Pair) 1 1
1 D.E 1073833-NLA | NLA - Armrest, Full Length, White 1 2
1 D,F,N | 1059660-NLA | NLA - Armrest, Full Length, Grey 1 2
LM 1132261-NLA | NLA - Kit, Armrest with Hardware, Full Length - 1 1

Grey
1 NLA - Armrest, Full Length, Grey 1 2
2 NLA - Screw, Phillips Pan Head (1/4 x 1-1/4") 1 4
2 A [48127X001-NLA | NLA - Screw, Phillips Round Head (#10-32 x 1/2") 1 4
2 D 1061431-NLA | NLA - Screw, Phillips Pan Head (1/4 x 1-1/4") 1 4
3 A,K [48016X000-NLA | NLA - Frame, Side - Right 1 1
3 A,K [48016X001-NLA | NLA - Frame, Side - Left 1 1
3 D 1082559-NLA | NLA - Frame, Side Rail, Chrome - Right/Left 1 2
4 AG 1058806-NLA | NLA - Leg Extension Assembly 1 2
4 A,G,N | 1058807-NLA | NLA - Kit, Leg Extension Sub-Assembly 1 1
Anti-Rattle, Grey (1-1/8") 1 2
Tube, Leg Extension 1 2
Tip, Rubber, Light Grey (1-1/8") 1 2
5 1094945 Button, Snap 1 4
6 1063124 Anti-Rattle, Grey (1-1/8") 1 2
7 D 1073450-NLA | NLA - Leg Extension Assembly 1 2
8 1057797 Tip, Rubber, Light Grey (1-1/8") 1 2
9 A 1018602-NLA | NLA - Bracket, Aluminum 1 1
10 1057287 Plug Button, Grey (1") 1 2
11 1073237-NLA | NLA - Clamp, Toilet Rail 1 2
12 D 1073452-NLA | NLA - Brace 1 1
D,J 1074444-NLA | NLA - Kit, Hardware 1 1
13 Locknut (1/4-20) 1 2
14 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 2

NOTE: A -To be used with Model 1392.

B - Before 5/17/99.

C - After 5/14/09.

D - To be used on Model 635-3.
E - Before 3/18/99.

F - After 3/19/99.

G - Kit Includes: Leg Tube, Anti-Rattle and Rubber Tip.
J - Kit Includes Items 13 and 14.
K - Item no longer available, suggested replacement is a complete unit 1392KD.
L - Kit includes (2) Armrests Part #1059660 and (4) Screws Part #1061431.

M - Not Shown.
N - Item no longer available, refer to Kit Part #1132261.

Form No. 92-43

27

To order call toll free 1-800-333-6900, or www.invacare.com




Toilet Safety Frame (Model 1392KD)

Toilet Safety Frame
Shown for
Reference Only

Model 1392KD

PN

|
|

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1128393-NLA | NLA - Kit, Pad Armrest Full with Hardware 1 1
2 40186X030 Tip, Rubber, Grey (1") 4 1

NOTE: A - Kitincludes (2) Armrest Pads and (4) Screws.

28

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com




Bath Board (Model 9664 - Discontinued 6/07)

Model 9664
Bath Board - Discontinued

29
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Bath Board (Model 9664 - Discontinued 6/07)

Quantity Per

Iltem

Number | Note | Part Number |Description Package | Assembly

1 1060311-NLA | NLA - Board, Bath 1 1
2 1052984-NLA | NLA - Knob with Threaded Rod, White 1 1
3 1060378-NLA | NLA - Bracket, Support, White 1 1
4 1030979 Screw, Phillips Pan Head Tap (#10-32 x 3/4") 1 2
5 1052960-NLA | NLA - Pad, Non-Skid without Holes 1 1
6 1060380-NLA | NLA - Pad, Non-Skid without Holes 1 2
7 1061430-NLA | NLA - Pin, Self Locking Clevis 1 1
8 1052981-NLA | NLA - Bracket, Adjustable, White 1 1
9 1040840-NLA | NLA - Plug Button, Grey (7/8") 1 1
10 1061428-NLA | NLA - Tube, Bracket, White 1 1

NOTE: Replacement parts for 1364P, 1365P are No Longer Available. Please contact Customer Service for replacement parts.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

30




Hand Shower

Oma

Model 826-4 and 828-4

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1074174-NLA | NLA - Tape, Double Sided 1 1

31

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Compact Blow Molded
Fixed Height

Model 50-1, 3 Model 60-1, 3
Without Back With Back

32
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Shower Chair - Compact Blow Molded

Fixed Height
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly

1 1079341-NLA | NLA - Seat 1 1
2 C 1079340-NLA | NLA - Back 1 1
3 1079313-NLA | NLA - Leg, Top 1 1
4 1079312-NLA | NLA - Leg, Bottom 1 1
5 C 1083245-NLA | NLA - Tube, Backrest Support 1 2
6 40186X030 Tip, Rubber, Grey (1") 1 4
7 1027096 Plug Button, Grey (7/8") 1 2
A,B,.D | 1074249-NLA | NLA - Kit, Hardware 1 1

8 NLA - Nut, Wing (1/4-20) 1 1
9 NLA - Washer, External Tooth Lock (1-1/4") 1 1
10 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
11 NLA - Screw, Slotted Hex Washer Head (1/4-14 x 1 4

1-1/2")

12 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
B,C,E | 1079912-NLA | NLA - Kit, Hardware 1 1

13 NLA - Nut, Wing (1/4-20) 1 1
14 NLA - Washer, External Tooth Lock (1-1/4") 1 1
15 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
16 NLA - Screw, Phillips Pan Head (1/4-14 x 2-1/4") 1 4
17 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
18 NLA - Screw, Phillips Pan Head Tap (#8-18 x 1/2") 1 2

NOTE: - To be used with Model 50-1,3.

- Not Shown.

- To be used with Model 60-1,3.
- Kit Includes Items 8-12.

- Kit Includes Items 13-18.

mooOw>

Form No. 92-43

33

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Compact Blow Molded
Adjustable Height

Model 75-1
Model 75-3 Discontinued 12/1/04
Without Back

Model 85-1
Model 85-3 Discontinued 12/1/04
With Back

34

Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com



Shower Chair - Compact Blow Molded

Adjustable Height

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
1 1079341-NLA | NLA - Seat 1 1
2 1079340-NLA | NLA - Back 1 1
3 1079314-NLA | NLA - Leg, Top 1 1
4 1079315-NLA | NLA - Leg, Bottom 1 1
5 C 1083245-NLA | NLA - Tube, Backrest Support 1 2
6 AB 1065346-NLA | NLA - Leg Extension Assembly 1 4
7 1027096 Plug Button, Grey (7/8") 1 2
8 1094945 Button, Snap 1 4
9 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
10 1063124 Anti-Rattle, Grey (1-1/8") 1 4
D,E,H | 1074249-NLA | NLA - Kit, Hardware 1 1
11 NLA - Screw, Slotted Hex Washer Head (1/4-14 x 1 4
1-1/2")

12 NLA - Nut, Wing (1/4-20) 1 1
13 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
14 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
15 NLA - Washer, External Tooth Lock (1-1/4") 1 1
F,G,H | 1079912-NLA | NLA - Kit, Hardware 1 1
16 NLA - Screw, Phillips Pan Head (1/4-14 x 2-1/4") 1 4
17 NLA - Nut, Wing (1/4-20) 1 1
18 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
19 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
20 NLA - Washer, External Tooth Lock (1-1/4") 1 1
21 NLA - Screw, Phillips Pan Head Tap (#8-18 x 1/2") 1 2
NOTE: A - Due to style changes, when replacing Leg Extension after 3-2-98, order (4) each, and also replace Item 8 (Snap Button).

B - Includes Items 9 and 10.

C - Includes Plug Buttons.

D - To be used with Model 75-1, 3.
E - Kit Includes Items 11-15.

F - To be used with Model 85-1, 3.
G - Kit Includes Items 16-21.

H - Not Shown.

Form No. 92-43

35

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Hygienic

Model 1362
Without Back

Model 1363
With Back

36

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



Shower Chair - Hygienic

Quantity Per

Item

Number | Note | Part Number |Description Package | Assembly
1 A 1070021-NLA | NLA - Seat, Hygienic 1 1
1 B 1079342-NLA | NLA - Seat, Hygienic 1 1
2 A 1068680-NLA | NLA - Back 1 1
2 B 1079340-NLA | NLA - Back 1 1
3 A 1068668-NLA | NLA - Leg, Top 1 1
3 B 1079314-NLA | NLA - Leg, Top 1 1
4 A 1068670-NLA | NLA - Leg, Bottom 1 1
4 B 1079315-NLA | NLA - Leg, Bottom 1 1
5 1065346-NLA | NLA - Leg Extension Assembly 1 4
6 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
7 1063124 Anti-Rattle, Grey (1-1/8") 1 4
8 A 1068679-NLA | NLA - Tube, Backrest, Support without Plug Buttons 1 2
8 B 1083245-NLA | NLA - Tube, Backrest Support 1 2
9 1027096 Plug Button, Grey (7/8") 1 2
10 1094945 Button, Snap 1 4
AD 1068666-NLA | NLA - Kit, Hardware 1 1
AF,G | 1068678-NLA | NLA - Kit, Hardware 1 1
B,C,D,| 1074249-NLA | NLA - Kit, Hardware 1 1
E
11 NLA - Washer, External Tooth Lock (1-1/4") 1 1
12 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
13 NLA - Screw, Slotted Hex Washer Head (1/4-14 x 1 4
1-1/2")
14 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
15 NLA - Nut, Wing (1/4-20) 1 1
B,C,F, | 1079912-NLA | NLA - Kit, Hardware 1 1
G
16 NLA - Washer, External Tooth Lock (1-1/4") 1 1
17 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
18 NLA - Screw, Phillips Pan Head Tap (#8-18 x 1/2") 1 2
19 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
20 NLA - Nut, Wing (1/4-20) 1 1
21 NLA - Screw, Phillips Pan Head (1/4-14 x 2-1/4") 1 4
22 A 18860X007 Screw, Phillips Pan Head (1/4-20 x 2-1/4") 1 4
NOTE: - Before 11/2/98.

- After 11/1/98.

- To be used with Model 1362.

A
B
C - Not Shown.
D
E

- Kit Includes Items 11-15.

F - To be used with Model 1363.

G - Kit Includes Items 16-21.

Form No. 92-43

37

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Mobhile

Model 6358

38

To order call toll free 1-800-333-6900, or www.invacare.com



Shower Chair - Mobhile

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
D,J,V | 1132265-NLA | NLA - Kit, Back Frame w/Upholstery and Hardware 1 1
1 NLA - Tube, Back Frame 1 1
2 NLA - Upholstery, Nylon Back, Grey 1 1
3 Locknut (1/4-20) 1 4
4 Screw, Phillips Pan Head (1/4-20 x 2-1/4") 1 4
1 13180X000-NLA | NLA - Tube, Back Frame 1 1
2 B 1086656-NLA | NLA - Upholstery, Nylon Back, Grey 1 1
2 A |13181X000-NLA | NLA - Upholstery, Nylon, Back, Bone 1 1
3 1008882 Locknut (1/4-20) 1 4
4 18860X007 Screw, Phillips Pan Head (1/4-20 x 2-1/4") 1 4
D,H 1132261-NLA | NLA - Kit, Armrest with Hardware, Full Length - 1 1
Grey

5 NLA - Armrest, Full Length, Grey 1 2
6 NLA - Screw, Phillips Pan Head (1/4 x 1-1/4") 1 4
5 B,C,Q | 1059660-NLA | NLA - Armrest, Full Length, Grey 1 1
5 A |01010X003-NLA | NLA - Armrest, Desk Length 1 2
5 B 1066569-NLA | NLA - Kit, Arm Pad w/ Hardware (Pair) 1 1
6 A [48127X001-NLA | NLA - Screw, Phillips Round Head (#10-32 x 1/2") 1 4
6 B 1061431-NLA | NLA - Screw, Phillips Pan Head (1/4 x 1-1/4") 1 4
7 A 1020594-NLA | NLA - Frame, Side 1 2
7 B 1086654 Frame, Side 1 2
8 1008665-NLA | NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 4
D,K | 1132266-NLA | NLA - Kit, Seat Rails with Hardware 1 1
8 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 4
9 NLA - Rail, Seat, Aluminum, Front 1 1
9 NLA - Rail, Seat, Aluminum, Rear 1 1
10 Locknut (1/4-20) 1 4
9 1020595-NLA | NLA - Rail, Seat, Aluminum, Front 1 1
9 1020596-NLA | NLA - Rail, Seat, Aluminum, Rear 1 1
10 60275X000 Locknut (1/4-20) 1 4
D,I,T | 1132262-NLA | NLA - Kit, Seat Ring with Pail and Holder 1 1
11 NLA - Holder, Pan/Pail 1 2
12 NLA - Pail with Lid and Handle, Grey 1 1
13 NLA - Seat, Ring 1 1
10 D,S,U | 1152023-NLA | NLA - Kit, Seat Ring with Pail and Holder 1 1
11 1019161-NLA | NLA - Holder, Pan/Pail 1 2
12 A 13040X000-NLA | NLA - Pail with Lid, Almond 1 1
12 B,R 1080083 NLA - Pail with Lid and Handle, Grey 1 1
12 1152022 Pail w/ Lid and Handle, Grey 1 1
13 A 1079335-NLA | NLA - Seat, Ring 1 1
13 B 1061998-NLA | NLA - Seat, Ring 1 1
14 1020597-NLA | NLA - Tube, Foot Support 1 1
D,E,M | 1132263-NLA | NLA - Kit, Casters 5" without Wheel Locks 1 1
15 Caster Assembly, Swivel (5") 1 2
16 Sleeve, Caster 1 2

Form No. 92-43

39

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Mobhile

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
17 Screw, Phillips Pan Head Tap (#8-32 x 5/16") 1 2
D,E,N | 1132264-NLA | NLA - Kit, Caster 5" with Wheel Lock 1 1
15 NLA - Caster Assembly, Swivel w/ Brake (5") 1 2
16 Sleeve, Caster 1 2
17 Screw, Phillips Pan Head Tap (#8-32 x 5/16") 1 2
15 1016683 Sleeve, Caster 1 4
16 G |01008X002-NLA | NLA - Casters without Wheel Lock, 1" Tube (5") 1 2
16 L 1016936-NLA | NLA - Caster without Wheel Lock (5") 1 2
16 E 1123547 Caster Assembly, Swivel (5") 1 2
16 F ]01007X003-NLA | NLA - Casters with Wheel Lock, 1" Tube, (5") 1 2
16 E 1123546-NLA | NLA - Caster Assembly, Swivel w/ Brake (5") 1 2
17 020647 Screw, Phillips Pan Head Tap (#8-32 x 5/16") 1 4
D,O 1132267-NLA | NLA - Kit, Frame Hardware 1 1
18 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 2
19 Locknut (#10-32) 1 2
20 Screw, Phillips Round Head (#10-32 x 1-3/8") 1 2
21 Rivnut (#10-32) 1 2
18 1007375 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 2
19 60279X003 Locknut (#10-32) 1 2
20 11008X011 Screw, Phillips Round Head (#10-32 x 1-3/8") 1 2
21 67005X000 Rivnut (#10-32) 1 2
D 1027708-NLA | NLA - Decal, Invacare 1 1
NOTE: A - Before 5/15/99.

B - After 5/14/99.
C - Due to style changes, it is recommended to order Armrests in pairs (Part Number - 1059660) after 9/3/99.
D - Not Shown.
E - Due to style change, it is recommended that you replace the Casters for the entire Shower Chair. You may also need to
order ltems 15 and 17 along with the Casters.

F - Item no longer available, use Part Number 1123546 as its replacement.
G - Item no longer available, use Part Number 1016936 as its replacement.
H - Kit includes (2) Armrests and (4) Screws.

| - Kit includes items 11-13.
J - Kit includes items 1-4.
K - Kit includes items 8, 9 (Front and Rear) and 10.

L - Item no longer available, use Part Number 1123547 as its replacement.

M - Kit includes (2) Casters without Locks, (2) Sleeve Bearings and (2) Screws.
N - Kit includes (2) Casters with Locks, (2) Sleeve Bearings and (2) Screws.

O - Kit includes items 18 - 21.
Q - Item no longer available, use Part Number 1132261 as its replacement.
R - Item no longer available, use Part Number 1152022 as its replacement.
S - Kit includes Pail, Seat Ring, and Holder.

T - Before 8/16/07.
U - After 8/15/07.
V - No longer offered by the manufacturer.

Form No. 92-43

40

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Large Blow Molded
Adjustable Height

Model 96380, 9681P
wlo Back
(Discontinued 12/1/04)

Model 9680F, 9681
wl Back
(Discontinued 12/1/04)

41
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Shower Chair - Large Blow Molded

Adjustable Height

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 AC 1060375-NLA | NLA - Back 1 1
2 1060376-NLA | NLA - Seat 1 1
3 F 1061419-NLA | NLA - Leg, Bottom 1 1
3 G 1079315-NLA | NLA - Leg, Bottom 1 1
4 F 1061418-NLA | NLA - Leg, Top 1 1
4 G 1079314-NLA | NLA - Leg, Top 1 1
5 E 1065346-NLA | NLA - Leg Extension Assembly 1 4
6 1063124 Anti-Rattle, Grey (1-1/8") 1 4
7 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
8 1094945 Button, Snap 1 4
9 1044142 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
10 1008882 Locknut (1/4-20) 1 1
13 1021944-NLA | NLA - Screw, Slotted Hex Washer Head (1/4-14 x 1 4

1-1/2")
A,D,J | 1074248-NLA | NLA - Kit, Hardware 1 1
9 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
12 Locknut (1/4-20) 1 1
13 NLA - Screw, Slotted Hex Washer Head (1/4-14 x 1 4

1-1/2")
B,C,K | 1074249-NLA | NLA - Kit, Hardware 1 1
9 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 1
10 NLA - Washer, Steel Flat (1/4 x 5/8 x 1/16") 1 1
11 NLA - Washer, External Tooth Lock (1-1/4") 1 1
12 NLA - Nut, Wing (1/4-20) 1 1
13 NLA - Screw, Slotted Hex Washer Head (1/4-14 x 1 4

1-1/2")
H 1068492-NLA | NLA - Back With Hardware 1 1
H,l 1064507-NLA | NLA - Plug, End 1 2

NOTE: A -To be used with Model 9681.

B - To be used with Model 9681P.

C - To be used with Model 9680P.

D - To be used with Model 9680.

E - Includes Items 6 and 7.

F - Before 11/2/98.

G - After 11/1/98.

H - Not Shown.

| - Used with Back before 5/15/97.

J - Kit Includes Items 9, 12 and 13.

K - Kit Includes Items 9, 10, 11, 12 and 13.

42
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Shower Chair - Folding

Model 9980 Model 9981
Without Back With Back

43

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



Shower Chair - Folding

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

AB 1090450-NLA | NLA - Kit, Hardware 1 1
1 NLA - Washer, Flat (1/4 x 1/2 x 1/16") 1 2
2 Screw, Hex Head (1/4-20 x 2-3/4") 1 1
3 Locknut (1/4-20) 1 1
4 1093112 Screw, Phillips Pan Head (1/4-1/8 x 3/4") 1 1
5 1026104-NLA | NLA - Spacer 1 1
6 1092405 Leg, Inside 1 1
7 1093609 Washer, Coved (1/4 x 1 x 1/2") 1 4
8 1092403 Bracket, Pivot Stop 1 1
9 40186X030 Tip, Rubber, Grey (1") 1 4

NOTE: A - Not Shown.
B - Kit Includes 1-3.

Form No. 92-43

44
To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Vinyl Padding

NOTE: Model 9872C was discontinued on 3/12/03.

Model 9872

Model 9872C
With Commode

45
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Shower Chair - Vinyl Padding

NOTE: Model 9872C was discontinued on 3/12/03.

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
A,D,E | 1075930-NLA | NLA - Kit, Hardware 1 1
1 Screw, Slotted Hex Washer Head Tap (#10-16 x 1 6
1-1/2")
2 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 2
3 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/2") 1 2
4 Locknut (1/4-20) 1 4
B,D,F | 1075931-NLA | NLA - Kit, Hardware 1 1
5 Screw, Slotted Hex Washer Head Tap (#10-16 x 1 2
1-1/2")
6 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 2
7 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/2") 1 2
8 Locknut (1/4-20) 1 4
9 Screw, Phillips Pan Head (#10-24 x 1-1/2") 1 4
10 1022921 Tube, Back 1 1
11 1075184-NLA | NLA - Pad, Back, Vinyl 1 1
12 A 1073264-NLA | NLA - Pad, Seat, Vinyl, Grey 1 2
13 B 1075656-NLA | NLA - Pad, Commode, Vinyl, Grey 1 1
14 1080491 Leg, Chair 1 2
15 1075045 Holder, Pan 1 2
15 1044142 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 2
16 1080492 Rail, End 1 2
17 1094945 Button, Snap 1 4
18 C 1058806-NLA | NLA - Leg Extension Assembly 1 4
19 1063124 Anti-Rattle, Grey (1-1/8") 1 4
20 1022925 Tube, Leg Extension 1 4
21 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
22 1074676 Pan 1 1
23 A 1115001 Screw, Phillips Pan Head (1/4-20 X 1-5/8") 1 2
NOTE: A - To be used with Model 9872.
B - To be used with Model 9872C.
C - Includes ltems 19-21.
D - Not Shown.
E - Kit Includes Items 1, 2 and 4, Item 3 used only on the 9872C.

F - Kit Includes Items 5-9.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

46




IVC™ |-Fit™ & CareGuard™ Shower Chairs
Model 90-2, 95-2, 9780 and 9781

Leg Used w/
Models 90-2 and 95-2

Leg Used w/
Models 9780 and 9781

e —

(G
%

SPC_013A

a7

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



IVC™ [-Fit™ & CareGuard™ Shower Chairs

Model 90-2, 95-2, 9780 and 9781

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 A 1116880 Backrest 1 1
2 B 1116872 Leg Assembly, Composite 1 4
3 B 1121530-NLA | NLA - Tip, Rubber, Grey 1 4
4 C 1094945 Button, Snap 1 4
5 C 1063124 Anti-Rattle, Grey (1-1/8") 1 4
6 C 1110289-NLA | NLA - Tip, Rubber, Grey 1 4
NOTE: A - For use with 96-2 (Aluminum) and 9781 (Composite) models only with Backrests.
B - For use with Shower Chairs with Composite Legs (9780 and 9781).
C - For use with Shower Chairs with Aluminum Legs (90-2 and 95-2).

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

48




Shower Chair - Tooless (Models 91-2 and 96-2)

Model 96-2 - Tooless
Shower Chair w/Back

Model 91-2 - Tooless
Shower Chair w/o Back

49

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



Shower Chair - Tooless (Models 91-2 and 96-2)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1145082-NLA | NLA - Package, Tip 10 1
2 A 1145083 NLA - Package, Leg with Tip - Standard 2 1

NOTE: A - Use with Models 91-2 and 96-2.

50

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Bariatric

(Model 9785-2)

51
Form No. 92-43 .
To order call toll free 1-800-333-6900, or www.invacare.com




Shower Chair - Bariatric
(Model 9785-2)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1141732 Kit, Back and Seat w/Hardware 1 1
2 1141734-NLA | NLA - Leg Extension Assembly 1 4

52

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com




With Commode

Model 9670C

Transfer Bench - Large Blow Molded

o™
e)

(0]
av]
2
£3
[« Q=)
Vg
5@
O «
£5

[]
%3
2
v 0
o | ] I
K BK)
U U
QO O
s s

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



Transfer Bench - Large Blow Molded

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 1060375-NLA | NLA - Back 1 1
2 A 1058356 Bench, Transfer with Commode 1 1
2 B 1060372 Bench, Transfer 1 1
G,H 1069168 Kit, Hardware 1 1
3 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 2
4 Locknut (1/4-20) 1 4
5 Screw, Slotted Hex Washer Head Tap (#10-16 x 1 8
1-1/2™
6 Screw, Phillips Pan Head (1/4-20 X 1-5/8") 1 2
7 1048897 Leg, Bench 1 2
8 C 1094945 Button, Snap 1 4
9 1063124 Anti-Rattle, Grey (1-1/8") 1 4
10 C 1022925 Tube, Leg Extension 1 4
11 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
12 CD 1058806-NLA | NLA - Leg Extension Assembly 1 1
13 1062820 Rail, End 1 2
14 1060379 Tube, Seat Arm 1 1
15 E 13245X000 Pail, Commode, White 1 1
15 F 1074676 Pan 1 1
16 E 1058357-NLA | NLA - Holder, Pan 1 2
16 F 1075045 Holder, Pan 1 2
G,J 1068492-NLA | NLA - Back With Hardware 1 1
G,l 1064507-NLA | NLA - Plug, End 1 2
NOTE: A -To be used with Model 9670C.
B - To be used with Model 9670.
C - Itis recommended when replacing Leg Extension after 3/20/98, also replace Item 8 (Snap button).
D - Includes Items 9-11.
E - Before 4/20/98.
F - After 4/19/98.
G - Not Shown.

H - Kit Includes Items 3-6.
| - Before 5/15/97.
J - Includes Items 1, 8, and 9.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

54




Transfer Bench
NOTE: Model 9871C was discontinued on 3/12/03.

Model 9871,9871-1 -Without Commode (Vinyl)
Model 9873 - Without Commode (Ensolite) o

Model 9871C, 9871C-1
With Commode (Vinyl)
Model 9873C

With Commode (Ensolite)

55

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



Transfer Bench

NOTE: Model 9871C was discontinued on 3/12/03.

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 1027096 Plug Button, Grey (7/8") 1 4
2 1075176 Screw, Slotted Hex Washer Head Tap (#10-16 x 1 6
1-1/2")
3 1075036 Support, Back 1 2
4 1075183 Pad, Vinyl, Grey 1 1
4 | 1073265-NLA | NLA - Pad, Seat, Ensolite, Grey 1 1
5 A.B 1073264-NLA | NLA - Pad, Seat, Vinyl, Grey 1 3
5 C 1073264-NLA | NLA - Pad, Seat, Vinyl, Grey 1 1
5 D.E 1127869-NLA | NLA - Pad, Seat, Ensolite, Grey 1 1
6 C 1075656-NLA | NLA - Pad, Commode, Vinyl, Grey 1 1
6 E 1075655-NLA | NLA - Pad, Commode, Ensolite, Grey 1 1
7 1102582 Screw, Slot Hex Washer Head Tap (#10-16 x 1 4
2-3/8")
8 1048897 Leg, Bench 1 2
9 1060379 Tube, Seat Arm 1 1
10 1115001 Screw, Phillips Pan Head (1/4-20 X 1-5/8") 1 2
11 1094945 Button, Snap 1 4
12 1063124 Anti-Rattle, Grey (1-1/8") 1 4
13 1022925 Tube, Leg Extension 1 4
14 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
15 F 1058806-NLA | NLA - Leg Extension Assembly 1 4
16 1062820 Rail, End 1 2
17 60275X000 Locknut (1/4-20) 1 4
18 1044142 Screw, Phillips Pan Head (1/4-20 x 1-3/8") 1 2
19 1022930 Screw, Phillips Pan Head (#10-24 x 2-1/2") 1 4
20 1075045 Holder, Pan 1 2
21 C.E 1074676 Pan 1 1
D,G | 1075932-NLA | NLA - Kit, Hardware 1 1
Screw, Phillips Pan Head (#10-24 x 1-1/2") 1 6
NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 2
Locknut (1/4-20) 1 2
NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/2") 1 2
Screw, Phillips Pan Head (#10-24 x 2-1/2") 1 4
A,G,H | 1075038-NLA | NLA - Kit, Hardware 1 1
NOTE: A -To be used with Model 9871.
B - To be used with Model 9871-1.
C - To be used with Model 9871C.
D - To be used with Model 9873.
E - To be used with Model 9873C.

F - Includes ltems 12, 13 and 14.

G - Not Shown.
H - Includes Items 2, 7, 10, 17 and 18.
| - Item No Longer Available. Refer to part number 1127869 for Replacement.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

56




Transfer Bench - Compact Blow Molded
(Models 98070 and 990-1)

Model 990-1

57
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Transfer Bench - Compact Blow Molded

(Models 98070 and 990-1)

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
1 D 1027096 Plug Button, Grey (7/8") 1 4
B,C,D, 1075930 NLA - Kit, Hardware 1 1
F
2 Screw, Slotted Hex Washer Head Tap (#10-16 x 1 6
1-1/2")
3 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/4") 1 2
4 NLA - Screw, Phillips Pan Head (1/4-20 x 1-1/2") 1 2
5 Locknut (1/4-20) 1 4
6 D 1075036 Support, Back 1 2
7 D 1074987-NLA | NLA - Pad, Composite 1 4
7 1075183 Pad, Vinyl, Grey 1 4
8 D 1048897 Leg, Bench 1 2
9 D 1062820 Rail, End 1 2
10 D 1102582 Screw, Slot Hex Washer Head Tap (#10-16 x 1 4
2-3/8")

11 1060379 Tube, Seat Arm 1 1
12 D 1094945 Button, Snap 1 4
13 D 1063124 Anti-Rattle, Grey (1-1/8") 1 4
14 D 1022925 Tube, Leg Extension 1 4
15 D 1057797 Tip, Rubber, Light Grey (1-1/8") 1 4
16 AD 1058806-NLA | NLA - Leg Extension Assembly 1 4

NOTE: A -Includes ltems 12-14.
B - Not Shown.
C - Kit Includes Items 2-5.
D - Used with 98070 and 990-1.
F - Item 4 is not needed on Model 990-1.

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

58




Transfer Bench - Tooless (Model 98071-2)

59

Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com



Transfer Bench - Tooless (Model 98071-2)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1145079-NLA | NLA - Package, Leg with Suction Cup 2 1
2 1145080-NLA | NLA - Package, Leg with Tip - Standard 2 1
3 1145081-NLA | NLA - Armrest 1 1

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

60




Transfer Bench - Bariatric (Model 9675-2)

61
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Transfer Bench - Bariatric (Model 9675-2)

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
1 1141732 Kit, Back and Seat w/Hardware 1 1
2 1141733-NLA | NLA - Kit, Side Seat w/ Hardware 1 1
3 1141734-NLA | NLA - Leg Extension Assembly 1 6
4 1141735-NLA | NLA - Kit, Tip and Anti-Rattle 1 1

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

62




Model 6314
FITS ON MODELS

3" Suction Cup Option

6451,64515, 6461
646185, 6431, 6481
6484,9670's, 987 |'s
9872's,9873's, 98070

(3
\

)

&\
d )
=
<
= P

&
6566 &
A

Model 6316

FITS ON MODELS
1362, 1363, 9680's,
9681's, 9690P, 9691P,
97080, 97081, 97090, —
97091, 50's, 60's, 75's, (

85's ~RY

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com



3" Suction Cup Option

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A,B |12711X001-NLA | NLA - Cup, Suction 1 2
2 AC 1022927-NLA | NLA - Tube, Leg Extension 1 2
2 B,D | 1064509-NLA | NLA - Tube, Leg Extension 1 2
3 A,B 1063124 Anti-Rattle, Grey (1-1/8") 1 2

NOTE: A -To be used with Model 6314.
B - To be used with Model 6316.
C - Anti-Rattle Included.
D - Anti-Rattle Not Included.

NOTE: Itis Recommended when replacing the Suction Cup Option for Models 6541, 6451S, 6461, 6461S, 6481, and 6484, after
3/2/98, also replace the Snap Buttons and Release Springs.

Model 6314 FITS ON MODELS: 6451, 6451S, 6461, 6461S, 6431, 6481, 6484, 9670's, 9871's, 9872's, 9873's and 98070.

Model 6316 FITS ON MODELS: 1362, 1363, 9680's, 9681's, 9690P, 9691P, 97080, 97081, 97090, 97091, 50's, 6Q0's, 75's, and 85's.

64
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43




Grab Bar Hardware

Hardware for:

Models 2712-3 - 2742-3, ADA Compliant
Models 512-3 - 532-3, Knurled

Models 312-3 - 332-3, Residential

512-3-532-3 312-3 - 2742-3

Hardware Package for Grab Bars
Includes: 6 Each, Screws - Phillips Pan Head (10-11 x 2)

65

Form No. 92-43
To order call toll free 1-800-333-6900, or www.invacare.com



Grab Bar Hardware

Model Numbers

Hardware Package

Quantity Per Package

1074401-NLA

312 - 332 1
See Note(s) A

512 - 532 1074401-NLA 1
See Note(s) A

1706CH 1074401-NLA 1
See Note(s) A

1754 1074401-NLA 1
See Note(s) A

1766 N/A 1

1910 - 1913 1074401-NLA 1
See Note(s) A

2712 - 2736 1074401-NLA 1

See Note(s) A

NOTE:

A - Kit includes (6) screws.

Form No. 92-43

66

To order call toll free 1-800-333-6900, or www.invacare.com




Tub Bars

Model 100-3 - Chrome Model 725-3 - Vinyl
Model 110-3 -Vinyl (Shown)
Model 1816 - Narrow Wall, Chrome

R

TN
A W
Are.

@\ﬁ i ‘ﬂr/ P/®

\

Model 1200-3 - Chrome

67
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Tub Bars

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1073204-NLA | NLA - Wrench, Mounting Hex Nut (1/2") 1 1
2 1073208-NLA | NLA - Bolt, Hex Cap (1/4-20 x 3") 1 2
3 1073517 Bolt, Hex (1/4-20 x 1-3/4") 1 2
4 16720X001-NLA | NLA - Bolt, Hex Cap (1/4-20 x 2") 1 2
5 1072003-NLA | NLA - Pad, Non-Skid Adhesive Back 1 4
6 1072004 Pad, Non-Skid Adhesive Back 1 4

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

68




Tub Bars

69
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



Tub Bars

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 1052984-NLA | NLA - Knob with Threaded Rod, White 1 1
2 1052959-NLA | NLA - Pad, Non-Skid without Holes 1 1
3 1052960-NLA | NLA - Pad, Non-Skid without Holes 1 1

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

70




H605 Rio

71
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 92-43



H605 Rio

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 1534495-NLA | NLA - Battery w/ Cover 1 1
2 1534726-NLA | NLA - Charger 1 1
3 1534461-NLA | NLA - Pendant, Control 1 1
4 1172001 Kit, Suction Cup w/ Hardware 1 1
Bracket, Mounting, Suction Cup 1 2

Cup, Suction 1 2

Holder, Suction Cup 1 2

5 1534455 Clip (Pair) 1 1
6 1534494 Sideflap 1 1

Form No. 92-43

To order call toll free 1-800-333-6900, or www.invacare.com

72




Invacare Corporation www.invacare.com

© 2022 Invacare Corporation. All rights
reserved. Republication, duplication or
modification in whole or in part is prohibited
without prior written permission from
Invacare. Trademarks are identified by ™

One Invacare Way Technical Support Customer Service and ®. All trademarks are owned by or
Elyria, Oh USA 800-832-4707 800-333-6900 licensed to Invacare Corporation or its
44036-2125 Florida Technical Support ?;23:2:?82/;2'/235 otherwise noted.
800-333-6900 407-321-5630

Form No. 92-43



